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1 09:00~ RE vs BRE—(T)| F%F F® vs o] EB&(C)
2 09:50~ £l vs FLiE RE +3A vs ussE# o]
3 10:40~ | EHF vs ERE—(T) #4 o] vs EBE(C) | uUssaE#k
4 11:30~ | DESAFIO vs F£i2 |sRE—M| FRI vs MESR |EmE—M)
5 12:20~ vs EB5&(C) vs BWE— (M) HMES®
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
118228 (1) 118228(1)

U—10(E) U—10(F)
HE=E THRNTSURB) FRENTIUF
RIHEHEF |(FED BE (FR # ¥ ((FED ShHR (FR) = H
1 09:00~ RE vs & =D (B) Em vs =itR | LEBFC(E)
2 09:50~ [TA47E(P) vs =z€2(B) & ITEXS vs FLEFC(E) NSP
3 10:40~ R vs =K@ |T47EP)|[>—HIL(B) vs =KR(B) | BHHhR
4 11:30~ & vs —/%8 =X(C) NSP vs SRR [ =KR(B)
5 12:20~ | Ehd'b vs =K (C) —/8 vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
OAOH(O) OAOH(O)

U—10(0) u—10(0)
HERG
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




